#### **SMGR0005**

	Louisiana	NO.	004	
	Department of Transportation and Development Change Order Report	Date:	08/05/2025	
S.P. NO.	H.013429.6	F.A.P. NO.	H013429	
Name:	DOWNTOWN THIBODAUX SIDEWALKS	Primary Parish:	Lafourche	
		Category 3 /	8A	
This change ord	er requires an LADOTD authorizer			

PROJECT DESCRIPTION: This project is an LPA project with the City of Thibodaux as the contractor. The project consists of reconstructing sidewalks, driveways, and handicap curb ramps to current ADA standards on various streets in downtown Thibodaux.

EXPLANATION & JUSTIFICATION: This change order will adjust the plan quantities used to construct the project.

COST: Total cost for this change order is \$35,351.15 overrrun.

SPECIFICATIONS - No specifications will be altered by this change order.

TIME: There is no additional time request for this change order.

ATTACHMENTS:

CO #4 Category Worksheet

CO #4 Reason Code

#### Project Number H.013429.6

#### 202-02-06100 Line Item 0001 = 202-02-06100 Removal of Concrete Walks and Drives

#### **Funding Category 0001:**

Increase by 126.08 SQYD or 3.19%.

The quantity was adjusted to match the actual field conditions.

## 202-03-38000 <u>Line Item 0003</u> = 202-03-38000 <u>Relocation of Sign</u>

# Funding Category 0001:

Decrease by 12 EACH or -63.16%.

The quantity was adjusted to match the actual field conditions.

## 402-01-00101 Line Item 0004 = 402-01-00101 Traffic Maintenance Surfacing (Aggregate) (Vehicular Measure

#### **Funding Category 0001:**

Decrease by 107 CUYD to zero or -100%.

The quantity was adjusted to match the actual field conditions. This item was not necessary.

#### 702-04-00100 <u>Line Item 0005</u> = 702-04-00100 <u>Adjusting Manholes</u>

## Funding Category 0001:

Decrease by 5 EACH or -31.25%.

The quantity was adjusted to match the actual field conditions.

### 706-01-00100 <u>Line Item 0006</u> = 706-01-00100 <u>Concrete Walk (4" Thick)</u>

#### **Funding Category 0001:**

Increase by 150.9 SQYD or 7.34%.

The quantity was adjusted to match the actual field conditions.

# 706-04-00110 <u>Line Item 0008</u> = 706-04-00110 <u>Curb Ramps Type 1A</u>

#### Funding Category 0001:

Increase by 161.11 SQYD or 94.30%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

#### 706-04-00110 Line Item 0009 = 706-04-00110 Curb Ramps Type 1A-X

### **Funding Category 0001:**

Increase by 20.3 SQYD or 22.68%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 <u>Line Item 0010</u> = 706-04-00110 <u>Curb Ramps Type 1B</u>

# Funding Category 0001:

Decrease by 19.4 SQYD to zero or -100%.

The quantity was adjusted to match the actual field conditions. The curb ramp at Sta 400+29 Rt at Rox's Bar was eliminated due to other

construction in the area by another contractor.

## 706-04-00110 <u>Line Item 0012</u> = 706-04-00110 <u>Curb Ramps Type 2P</u>

#### **Funding Category 0001:**

Increase by 22.54 SQYD or 36.59%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 <u>Line Item 0013</u> = 706-04-00110 <u>Curb Ramps Type 2P-X</u>

## **Funding Category 0001:**

Increase by 7.66 SQYD or 39.90%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 <u>Line Item 0014</u> = 706-04-00110 <u>Curb Ramps Type 4A</u>

# Funding Category 0001:

Decrease by 31.14 SQYD or -35.35%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 Line Item 0015 = 706-04-00110 Curb Ramps Type 4B

#### **Funding Category 0001:**

Decrease by 13.85 SQYD or -40.03%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the  $\pm$ -- for each curb ramp.

### 706-04-00110 <u>Line Item 0016</u> = 706-04-00110 <u>Curb Ramps Type 4C</u>

## **Funding Category 0001:**

Decrease by 1.04 SQYD or -4.03%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

#### 706-04-00110 Line Item 0017 = 706-04-00110 Curb Ramps Type 4P

# Funding Category 0001:

Decrease by 32.9 SQYD to zero or -100%.

The quantity was adjusted to match the actual field conditions. The curb ramp at Sta 100+55 Lt was changed from a Type 4P to a Type 2P due to a telecommunications box.

# 706-04-00110 <u>Line Item 0018</u> = 706-04-00110 <u>Curb Ramps Type 5A</u>

# **Funding Category 0001:**

Decrease by 3.66 SQYD or -16.34%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 <u>Line Item 0019</u> = 706-04-00110 <u>Curb Ramps Type 6A</u>

# Funding Category 0001:

Decrease by 33.81 SQYD or -15.62%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 Line Item 0020 = 706-04-00110 Curb Ramps Type 6B

#### Funding Category 0001:

Decrease by 14.59 SQYD or -59.07%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

### 706-04-00110 Line Item 0021 = 706-04-00110 Curb Ramps Type 6C

# **Funding Category 0001:**

Increase by 1.68 SQYD or 12.00%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 <u>Line Item 0022</u> = 706-04-00110 <u>Curb Ramps Type 7A</u>

### **Funding Category 0001:**

Decrease by 3.71 SQYD or -16.06%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 706-04-00110 <u>Line Item 0023</u> = 706-04-00110 <u>Curb Ramps Type 8A</u>

#### **Funding Category 0001:**

Decrease by 19.63 SQYD or -56.90%.

The quantity was adjusted to match the actual field conditions. Field measurements were taken for each ramp to meet the specifications, hence the +/- for each curb ramp.

# 732-01-01000 Line Item 0027 = 732-01-01000 Plastic Pavement Striping (4" Width) (Thermoplastic 90 mil) Yellow

## **Funding Category 0001:**

Increase by 126 LNFT or 6.67%.

The quantity was adjusted to match the actual field conditions.

#### NS-600-00220 Line Item 0029 = NS-600-00220 Saw Cutting Portland Cement Concrete Pavement

#### **Funding Category 0001:**

Decrease by 13625.85 INLF or -32.60%.

The quantity was adjusted to match the actual field conditions.

### NS-MSC-00080 Line Item 0030 = NS-MSC-00080 Detectable Warning Surface Retrofit for Curb Ramps

#### **Funding Category 0001:**

Decrease by 78 EACH or -83.87%.

The quantity was adjusted to match the actual field conditions. The specification states that the detectable warning surface is included in the price for the curb ramps. The designer included 1 each for each curb ramp by mistake, so the revised quantity is only for the retrofit curb ramps.

# TS-MSC-01040 <u>Line Item 0031</u> = TS-MSC-01040 <u>Adjusting Utility</u> Boxes

## Funding Category 0001:

Decrease by 2 EACH or -3.39%.

The quantity was adjusted to match the actual field conditions.

### 706-02-00200 <u>Line Item 0032</u> = 706-02-00200 <u>Concrete Drive (6" Thick)</u>

#### **Funding Category 0001:**

Increase by 252.6 SQYD or 53.11%.

The quantity was adjusted to match the actual field conditions. 186.35 sq yd was added on West 4th Street at Sta 201+48 LT at the rear of Johnny's Men's Shop. This was an existing parking lot and the plans only had a new sidewalk. The entire area needed to be removed and replaced to correct the cross slopes to ADA standards. The remaining additional quantity was scattered throughout the project.

#### TS-719-00020 Line Item 0033 = TS-719-00020 Pavers (Brick)

## **Funding Category 0001:**

Increase by 218.08 SQFT or 15.28%.

The quantity was adjusted to match the actual field conditions.

The Project Engineer, verified by his approval of this change order, has confirmed and documented either in the project files or within this change order, that the pricing of items are priced per specification section 109.04, and any extension of contract time meets the requirements of specifications section 108.07. It is mutually agreed by the parties represented to perform and accept the above revisions in accordance with the original contract and applicable specification, and that this change order represents final adjustments for any and all compensation and time due to the Contractor for changes to the project's work referred to herein.

Item No.	Item	Major Item	Price	Change		Current Quantity	Revised Quantity	% Change
Proj. / Line Item No.			per Unit	Quantity	Amount			
202-02-06100	Removal of Concrete Walks and Drives	No	\$5.00	126.080	\$630.40	3952.700	4078.780	3.19%
H.013429.6 / 0001		1.95%	SQYD					
202-03-38000	Relocation of Sign	No	\$500.00	-12.000	-\$6,000.00	19.000	7.000	-63.16%
H.013429.6 / 0003		0.33%	EACH					
402-01-00101	Traffic Maintenance Surfacing (Aggregate) (Vehicular Measure	No	\$80.00	-107.000	-\$8,560.00	107.000	0.000	100.00%
H.013429.6 / 0004		0.00%	CUYD					
702-04-00100		No	\$250.00	-5.000	-\$1,250.00	16.000	11.000	-31.25%
H.013429.6 / 0005	Adjusting Manholes	0.26%	EACH					
706-01-00100	Concrete Walk (4" Thick)	Yes	\$95.00	150.900	\$14,335.50	2056.100	2207.000	7.34%
H.013429.6 / 0006		20.03%	SQYD					
706-04-00110	Cyalle Domena Tyma 1 A	No	\$200.00	161.110	\$32,222.00	170.850	331.960	94.30%
H.013429.6 / 0008	Curb Ramps Type 1A	6.34%	SQYD					
	T							

706-04-00110	Curb Ramps Type 1A-X	No	\$200.00	20.300	\$4,060.00	89.500	109.800	22.68%
H.013429.6 / 0009	1 71	2.10%	SQYD					
706-04-00110	Curb Ramps Type 1B	No	\$200.00	-19.400	-\$3,880.00	19.400	0.000	100.00%
H.013429.6 / 0010		0.00%	SQYD					
706-04-00110	Curb Ramps Type 2P	No	\$200.00	22.540	\$4,508.00	61.600	84.140	36.59%
H.013429.6 / 0012	Curb Ramps Type 2P	1.61%	SQYD					
706-04-00110	Curb Ramps Type 2P-X	No	\$200.00	7.660	\$1,532.00	19.200	26.860	39.90%
H.013429.6 / 0013		0.51%	SQYD					
706-04-00110	Curb Ramps Type 4A	No	\$200.00	-31.140	-\$6,228.00	88.100	56.960	-35.35%
H.013429.6 / 0014	Curo Rumps Type 171	1.09%	SQYD					
706-04-00110	Curh Ramns Type 4R	No	\$200.00	-13.850	-\$2,770.00	34.600	20.750	-40.03%
H.013429.6 / 0015	Curb Ramps Type 4B	0.40%	SQYD					
706-04-00110	Curb Ramps Type 4C	No	\$200.00	-1.040	-\$208.00	25.800	24.760	-4.03%
H.013429.6 / 0016	euro Ramps Type 40	0.47%	SQYD					
706-04-00110	Curb Ramps Type 4P	No	\$200.00	-32.900	-\$6,580.00	32.900	0.000	100.00%
H.013429.6 / 0017		0.00%	SQYD					
706-04-00110	Curb Ramps Type 5A	No	\$200.00	-3.660	-\$732.00	22.400	18.740	-16.34%
H.013429.6 / 0018	Cuto Kamps Type 5A	0.36%	SQYD					
706-04-00110	Curb Ramps Type 6A	No	\$200.00	-33.810	-\$6,762.00	216.400	182.590	-15.62%
H.013429.6 / 0019	Curo Ramps Type of	3.49%	SQYD					
706-04-00110	Curb Ramps Type 6B	No	\$200.00	-14.590	-\$2,918.00	24.700	10.110	-59.07%
H.013429.6 / 0020	Curo Ramps Type ob	0.19%	SQYD					
706-04-00110	Curb Ramps Type 6C	No	\$200.00	1.680	\$336.00	14.000	15.680	12.00%
H.013429.6 / 0021	euro rumps 13pe de	0.30%	SQYD					
706-04-00110	Curb Ramps Type 7A	No	\$200.00	-3.710	-\$742.00	23.100	19.390	-16.06%
H.013429.6 / 0022	owie rumpe rypo //r	0.37%	SQYD					
706-04-00110	Curb Ramps Type 8A	No	\$230.00	-19.630	-\$4,514.90	34.500	14.870	-56.90%
H.013429.6 / 0023	owie rumpe rypo err	0.33%	SQYD					
732-01-01000	Plastic Pavement Striping	No	\$2.00	126.000	\$252.00	1890.000	2016.000	6.67%
H.013429.6 / 0027	(4" Width) (Thermoplastic 90 mil) Yellow	0.39%	LNFT					
NS-600-00220	Saw Cutting Portland	No	\$1.00	- 13625.850	\$13,625.85	41802.400	28176.550	-32.60%
H.013429.6 / 0029	Cement Concrete Pavement	2.69%	INLF					
NS-MSC-00080	Detectable Warning Surface	No	\$150.00	-78.000	\$11,700.00	93.000	15.000	-83.87%
H.013429.6 / 0030	Retrofit for Curb Ramps	0.21%	EACH					
TS-MSC-01040	Adjusting Utility Boxes	No	\$150.00	-2.000	-\$300.00	59.000	57.000	-3.39%
H.013429.6 / 0031		0.82%	EACH					
706-02-00200	Congreta Drive (6" Think	Yes	\$150.00	252.600	\$37,890.00	475.600	728.200	53.11%
H.013429.6 / 0032	Concrete Drive (6" Thick)	10.43%	SQYD					
TS-719-00020	Daviers (D.::-1-)	Yes	\$75.00	218.080	\$16,356.00	1427.000	1645.080	15.28%
H.013429.6 / 0033	Pavers (Brick)	11.78%	SQFT					
Additional Contract Days Requested <b>None</b>			Change	in Amount	of Contract: \$35,351.15			

Requested By:		Recommended By:	
	Date:		Date:
Lacy, Barry Resident Engineer		District Administrator	
Accepted By:			
CITY OF THIBODAUX	Date:		Date:
Contractor		DOTD Chief Const. Engineer	
Ву:		Approved:	
			Date:
		Chief Engineer	

State Project No. H.013429.6 Plan Change #004 Draft

Original Contract Cost:\$1,046,962.90Total Approved Change Order to date:\$126,626.73% of Total Approved Cost:12.095%